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QD:1-

In the following question, select the number which
can be placed at the sign of question mark (?) from

the given alternatives.

TR v & Ry o7 feeat A @ uy °E

(?) & T W IS A GEA H GRAT

2|5 8
4 | 10| 16
6 | 15| 24
8 | 20| 7

Options:

1)29

2)30

3)32

4) 26

Correct Answer: 32
Candidate Answer: 32

QD:2-

How many rectangles are there in the given figure?

& 9% 3l # fopaa 3T €7

T~

Options:
1)10

2)9
3)8

4H11
Correct Answer: 9
Candidate Answer: 9




QID:3-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 01, 65, etc, and ‘A’ can be represented by 44, 95, etc.
Similarly, you have to identify the set for the word “CHAMP” .

TH MG had UH GEI-HAR &N G I b, ofer 6 fweur # |
et v & ©Bar = &1 RAeent # Br v dwn-wag et & g gt
g gafe are ¥ St s Ru e @) smeggt A ¥ sneypl & waew 3k
ufts i dEar 0 A 4 ¥ 3R YR H 5 F 91 39 YR F Uh HERW
@ upel UM ufh AR a F roew d@Ew gR1 T S AT §
SEIRA0T & fU K@ 01, 65, TG R GTAT S HhA § AU ‘AT Fl 44,
95, NG ERT GfaT S FhaT &l W oHe & UM UA # U g
“CHAMP” & ToIT Tog & UgaEar gl

Matrix-| Matrix-ll

Jrygg-l Jegg-l
0(1]2[3(4 5|/6[(7|8|9
O|V|K|D[F|R 5|WI[C|U|G]| I
1|C|W|O|H|V 6(K[I|H|Q|S
2 T|S|Y|J]S8 7|IU[E|Y|BJ|A
I HIF]I |CIR 8|F|H|P|L|N
4 DIS|U|N|A 9(A(R|M|T|O

Options:
1)10,13,44,11,41

2) 56, 67,97, 67, 43
3) 58, 86, 44, 59, 87

4) 33,13,79,97, 87
Correct Answer: 33, 13,79, 97, 87
Candidate Answer: 33, 13,79, 97, 87

QD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o IR FEEE & ¥ 39 R g @ gEw
orw # wyr apla Bfta &




Options:

/N

2)

4)

Correct Answer:

Fi

Candidate Answer:

QID:5-

Which answer figure will complete the pattern in the

question figure?

Hid ®W 3T FPA UH AP & UfAFT B QU

#efr?

~




Options:
1)

2)

4

Correct Answer:

Candidate Answer:

QID:6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE me gUUT @ ABI@T WX @1 AW, ar & s
IR Hpaal # T g @ gy uw ey &
e ufafesa gref?




Options:
1)

Correct Answer:

Candidate Answer:

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

#r & ux wgpfadl & R@mw WgER e @
Az Bed IUT Wiowt & g g FE 3T AP
s g &eme

ail|ealls




Options:
1)

2)

—
—

4

—

Correct Answer:

—

Candidate Answer:

—

QID : 8 - If 'A' means '+, 'B' means ', 'C' means '+' and 'D' means 'x', then

13B11A56C14D2="?

afe A &1 oref ¥, 'B' T aref ', 'C' e aref '+ ‘D' g onef ' g, it

13B11A56C14D2=?
Options:

1) 20

2) 29

3)10

4)14

Correct Answer: 10
Candidate Answer: 10

QID:9-If13@3C2=14and12@ 6 C2 = 16, then

14@2C10=2

gE13@3C2=14aU12@6C2=1678,ar

14@2C10="7
Options:

1)3

2)6

3)9

411

Correct Answer: 6
Candidate Answer: 6



QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Slave
2. Snake
3. Snipper
4. Snorkel
5. Simple

Frfeaa 1eai il AreaentsT | 31 ATt oA & SIER ford |

1. Slave
2. Snake
3. Snipper
4. Snorkel
5. Simple

Options:
1) 51243

2) 51324
3) 51234

4) 51432

Correct Answer: 51234

Candidate Answer: 51234

QID : 11 - In the following question, select the missing number from the given series.
15,17, 20, 25, 32,?

ol v 7 g g faeredi # @ g of 1 SIfSgl

15,17, 20, 25, 32, ?
Options:
1) 41

2) 36
3) 43

4) 39
Correct Answer: 43
Candidate Answer: 43

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
MO, QS, UW, ?
Teh S1eRH o T &, Forem @ o U g g1 g TIq faeredt & § a8 el fdehed gy, St SrshA &l g R

MO, QS, UW, ?
Options:
1Yz

2) YA
3)ZB

4) Xz
Correct Answer: YA
Candidate Answer: YA

QID : 13 - In the following question, select the odd word from the given alternatives.

Frfafea v A fig 71g fahedt 7 9 v <reg &t gl
Options:

;%:Sydd

2) Silver
I

3) Iron
et

4) Neon
[EEIC]

Correct Answer: Neon
[EXICH

Candidate Answer: Neon
[EEIE]

QID : 14 - In the following question, select the odd number from the given alternatives.

ot v A g 7g faered # 9 fawm g @i gfhml




Options:
1) 49

2) 64
3)81

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frafafea vy 8 Ry 7y fawedt & @ fwm siert 6t gfg)

Options:
1) WXZ

2) GHJ

3) MNQ

4) KLN

Correct Answer: MNQ

Candidate Answer: MNQ

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Doctor, Director, Actress

I8 3@ gAY 57t A Ry 7y it & e & Hete o et fFeuor akar g1

faferee, Aerms, sifash

Options:
1)

2

3

og | [

4

c

Correct Answer:

€

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.
Necklace : Pearl : : Bouquet : ?

frfafaa vs d Ry 1 faeedt  § wefdq 2ree &t g

R : Al : : erewar: ?



Options:
1) Flower

P
2) Fruit
el

3) Garden
Elul

4) Petal
Ll

Correct Answer: Flower
Gt
Candidate Answer: Flower

&<

QID : 18 - In the following question, select the related number from the given alternatives.
18:5832::17:?

frafafa v & Ry 7y faeedt & @ wefda g «f gfg

18:5832::17:?

Options:

1) 4900

2) 4096

3) 4913

4) 10000
Correct Answer: 4913
Candidate Answer: 4913

QID : 19 - In the following question, select the related letters from the given alternatives.
OPQ:STU::WXY:?
Fafafea w8 Ry 7y faed & € Gefda sreri ot gl

OPQ:STU::WXY:?
Options:

1) ABD

2) ABC

3) ZAB

4) BDC
Correct Answer: ABC
Candidate Answer: ABC

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
EVANESCENT
fafefad fadred § 9 a8 rea gMAg St g 1Y 2ree & S1eRT a1 TRINT ek g ST ST HehdT|

EVANESCENT
Options:
1) SCENT

2) NOSE
3) NEST

4) SCAN
Correct Answer: NOSE
Candidate Answer: NOSE

QID : 21 - Sunita walks 24 km towards west. She turns right and walks another 24 km. She turns right and walks another 28 km. In which direction is she from her
starting point?

GeAtar uffm 6t ok 24 .. Tt &1 a8 arff ofik gt & qur 24 .. ofk Tt &1 98 arff ofik gt & qar 28 3.1, ofk Tt &1 a8 oo e famg & forw Ram # 82

Options:
1) North
IR

2) East

3) North-East

IR-gd

4) North-West

IR-ufgm

Correct Answer: North-East
IR-gd

Candidate Answer: North-East

T I 0000000



QID : 22 - Weight of B is thrice that of C. Weight of C is half of D. Weight of D is 5 times of F. Weight of F is twice of E. The weight of C is greater than the weight of
how many persons among B, D, E and F?

B &1 TR C &1 faT=1 &1 C &7 WR D &1 31181 &1 D &1 WR F &1 5 7T 81 F &1 YR E &I QAT 81 C &I ¥R, B, D, E @1 F # & foha caferal & WR & aifdres 87

Options:

1)2

2)1

3)0

4)4
Correct Answer: 2
Candidate Answer: 2

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All blue are red.
Il. Some blue are pink.

Conclusions:
I. Some pink are not blue.
IIl. Some red are pink.

2 g 7T v H o HUA 3R I a1 3T wYAT W iR Fw e Ry g &, greifes 3 Sy F1a @t & R &) gt 81 Tt e 0 ofik o FRufRa R fk Ry g e
Y fsh, R Mg ST & SR R gReed €1

Y

. goft et e 81

1. T it et &1

fRreepe:

. 3 ToTel e T8 81

Il. B ATt et €1

Options:

1) Only conclusion (1) follows.
Faet sy (1) 98t 81

2) Only conclusion (11) follows.
Shaet s (1) T8 &1

3) Both conclusion follow.
2T g1 frend Tt 81

4) Neither conclusion (1) nor conclusion (Il) follows.

Tt P (1) 7 8 s (1) @@ 21

Correct Answer: Only conclusion (II) follows.

et P (1) W) 21

Candidate Answer: Both conclusion follow.

2t &t ey @@l 81

QID : 24 - In a certain code language, "STROKE" is written as "HGILPV". How is "PLAZO" written in that code language?

e fAfre i wmor d, "STROKE" &Y "HGILPV" forar Sirar &1 59 ahte ureT & "PLAZO" @t fohd e forar sgam?

Options:
1) KOZAL

2) LAZOK
3) AZOKL

4) ZOKLA
Correct Answer: KOZAL
Candidate Answer: KOZAL

QID : 25 - In a certain code language, "FIT" is written as "33" and "FAT" is written as "25". How is "KIN" written in that code language?

e fafe sl wrem &, "FIT" &t "33" aur "FAT" ol "25" forar ST1aT 81 39 ahis arem & "KIN' @t fohg U forar simem?

Options:
1) 32

2) 36
3)30

4) 34
Correct Answer: 32
Candidate Answer: 32

QID : 26 - For what value of N, 23N7 is completely divisible by 9?
N & forg 719 & forg 23N7, 9 & gufa: s 82



Options:

1)5

2)7

3)6

4)4

Correct Answer: 6
Candidate Answer: 6

QID : 27 - Which of the following statement(s) is/are true?

I. There are 13 multiples of 7 from 1 to 100.
1l. There are 5 multiples of 19 from 1 to 100.

frafafEa & @ o= a1/8 & T 8/8?

1.1 & 100 d< 7 & 13 7UIw &1
1. 1§ 100 &<k 19 & 5 TUTieh 81

Options:
1) Only |
Fad |
2) Only Il
Fa I

3) Both land Il
| o 11 gt

4) Neither I nor Il
Fariagi

Correct Answer: Only Il
Fae Il

Candidate Answer: Only Il
Fae Il

QID : 28 - What is the value of 92 + 112 + ... 2122

92+112+ ... 212 T A T &2
Options:
1) 1441
2) 1346
3) 1532

4) 1687
Correct Answer: 1687
Candidate Answer: 1687

QID : 29 - A number M is completely divisible by 20. If (M + 4)(M + 3) is divided by 20, then what will be the remainder?

ek &1 M, 20 & gofa: s 81 af (M + 4)(M + 3) &t 20 & RenfSia foman Sirar 8, at wwher aam ghm?
Options:

1)1

2)12

3)8

4)9

Correct Answer: 12

Candidate Answer: 12

QID : 30 - How many numbers are there from 5 to 125 which are divisible by both 3 and 7?

5@ 125 deh QY ot Teeamd § it 3 aur 7 &1 @ frsa gkt 82

Options:

1)6

2)4

3)2

4)5

Correct Answer: 5
Candidate Answer: 5

QID : 31 - Which of the following number is neither prime nor composite?

PrafafRa & & @ d e 7 df 3rared @ 7 8 9geh 82

Options:
1)2

2)1
3)3

4)5
Correct Answer: 1
Candidate Answer: 1



QID : 32 - A can do a piece of work in 30 days and B can do the same piece of work in 20 days. They start working together and work for 4 days and then both leave
the work. C alone finishes the remaining work in 18 days. In how many days will C alone finish the whole work?

A Tah & @t 30 et & o Tepar § aum B 3t ref oY 20 R & o Tehar &1 4T a1y e AT TR R § AT 4 R ek ohrd v € aut foRR g1 el et 33 €1 C Qw el Rt
31kt 18 At H THIE e 81 C Sfehell G i bl fohae feat & gy aveamm?

Options:

1) 30

2) 27

3)25

4) 24

Correct Answer: 27
Candidate Answer: 27

QID : 33 - W and T together can do a work in 12 days. W alone can do the work in 15 days. In how many days can T alone do the work?

W a1 T Ueh & ot ety 12 1 & o Tand &1 W 31ehetl o aht 15 AT A o Thar &1 T SichelT 39 i aht fohant fo ® ahe Tehal 82
Options:

1) 65

2)72

3) 45

4) 60
Correct Answer: 60
Candidate Answer: 60

QID : 34 - The angles of a triangle are in the ratio of 4 : 4: 2. What is the measure of the smallest angle (in degrees)?

foreft roget & ahivTl o1 SrqUTd 4 : 42 2 31 TS B Yot o A (Feeh #) = @2
Options:

172

2) 36

3) 44

4) 54
Correct Answer: 36
Candidate Answer: 36

QID : 35 - A profit of 20% is made after giving a discount of 15% on an article. If the marked price of the article is Rs 2760, then what is its cost price (in Rs)?

Teh A% W 15% &Y e 3 & T 20% T &1 gl & | afe awg o siftha Fed 2760 & 8, dt 3T 5ha Hed (3 H) T 82
Options:
1) 1955
2) 2150
3) 1845

4) 1890
Correct Answer: 1955
Candidate Answer: 1955

QID : 36 - An article has marked price of Rs 6000 and is available at a discount of 10%. The shopkeeper gives another discount to the buyer and sells the article for Rs
4050. What is the second discount (in %) offered?

Ueh a%g T Sifchd qed 6000 T & aT 10% i PE TR JUEY & | GIMER UTeh i Geh SIfafReh T &aT & a7 a%g &t 4050 3 H 39 a1 81 g@t IR & 78 e (% ) foveett 82
Options:

115

2) 20

3)10

4)25

Correct Answer: 25

Candidate Answer: 25

QID : 37 - Incomes of X and Y are in the ratio 15 : 13. Their expenditures are in the ratio 13 : 11. If both save Rs 9600 at the end of the month, then what is the income
(in Rs) of X?

X TATY I S 15 : 13 3 IguTa A g1 I g 13 : 11 & 31gurd A 81 & 1 A18 o 3id # 9600 3 &l T/ad &l 6, af X I 31 (3 H) T 82

Options:
1) 62400

2) 52800
3) 80400

4) 72000
Correct Answer: 72000
Candidate Answer: 72000



QID : 38 - Three numbers are in the ratio 4 : 3 : 1. If the sum of their squares is 1664, then what are the numbers?

i eG4 2 31 1 & SrUTd A §1 AfE Ik Il ol AT 1664 8, At GG T 87
Options:

1)32,24,8

2) 32,16, 24

3)4,16,32

4)28,7,4
Correct Answer: 32, 24,8
Candidate Answer: 32, 24, 8

QID : 39 - The average of 7 consecutive numbers is 21. If previous 2 numbers are also included, then what will be the new average?

7 AT Seeanail ot ofid 21 §1 3 freselt 2 Temeit @t off anfier e forar sy, &t =an sitaa aam ghm?
Options:

1)19

2) 20

3)19.5

4) 20.5
Correct Answer: 20
Candidate Answer: 20

QID : 40 - A wholeseller buys an article for Rs 42 and sells it for Rs 36. What is his loss percent?

e ¥iYeh farchdT Goh a¥q 42 T 8 @R1edT & a1 39 36 3 H J9dT g1 I g1 Hfasrd a1 82
Options:

1)14.28

2) 20

3)16.67

4)11.11
Correct Answer: 14.28
Candidate Answer: 14.28

QID : 41 - A man sold 450 chairs and had a gain equal to selling price of 50 chairs. What is his profit percentage?

Ueh aAfh Y 450 HRFAT ot e 50 HRIAT & faeha T o SRTR T §3T| SHehT A1 UfdId &R 872

Options:
1)12.5

2)25
3) 16.66

4) 20
Correct Answer: 12.5
Candidate Answer: 12.5

QID : 42 - Out of the total books, 20% of books are of type-1. 30% of remaining books are of type-2. 60% of remaining books are of type-3. The remaining 448 books
are of type-4. How many total books are there?

et QEIchI A § 20% YR HhR-1 T &1 A Gl # & 30% TehR-2 it &1 A0 gkl & § Y 60% ThR-3 Hr &1 Tt §5 A 448 Y&ach UhR-4 i &1 Gt foharft gerch &7

Options:
1) 1000
2) 2000
3) 1500
4) 1800

Correct Answer: 2000
Candidate Answer: 2000

QID : 43 - A number is increased by 25%. To obtain the old number, by how much should it be decreased?

e H&AT &l 25% § TG TT| YR ST UTe & & forg, 9 fohaet wfdiera & weran sma?
Options:

1)15

2) 20

3)25

4)18

Correct Answer: 20

Candidate Answer: 20

QID : 44 - The speed of a stream is 3 km/hr. A boat goes 36 km and comes back to the starting point in 9 hours. What is the speed (in km/hr) of the boat in still
water?

e T 3t f 3 . HR. /6T 81 Gan 1a 36 6. H. it gt T ok arue Sru SmRfies foig ur 9 € F ot STt 81 1t et & Ara oy iy (6. /gier F) i @2
I @000



Options:

1)8

2)9

3)10

47

Correct Answer: 9
Candidate Answer: 9

QID : 45 - Two men are standing on opposite ends of a 1500 metre long bridge. If they walk towards each other with speeds of 25 m/s and 5 m/s respectively, then
how much time (in seconds) will they take to meet each other?

3} &fth 1500 Hiex T Gah e o faudid foheiRl )R @S 81 3 & shmar: 25 #./8. qur 5 #./Q. & i @ Gk g@R ol 3R Te1 TR &, df 3 s 7 e # fohaen @ (devst #)
a2

Options:

1) 40

2) 50

3) 60

4) 80

Correct Answer: 50
Candidate Answer: 50

QID : 46 - What is the simple interest (in Rs) on a principal of Rs 12000 at the rate of 2% per annum for 2 years?

12000 ¥ & AL WR 2% Y aTfiich & & 2 auT AT TR TS (& H) 7 82

Options:
1) 500

2) 240
3) 480

4) 550
Correct Answer: 480
Candidate Answer: 480

QID:47 -

The pie chart given below shows the number of
students in 6 different sections. The total number
of students is 1800.

i Re v g Ay 7 6 Afdew =it 7 o=r Hr
TEAT FT AT AT E| BTE F FA WEAT 1800
gl

F,18°
y T

E, 90°
B, 36°

D, 72°

c,T2

What is the average number of students in section A, B and F?

aif A, B 3T F & B &Y oftad T ar 82

Options:
1) 252

2) 600
3)210

4) 756
Correct Answer: 210
Candidate Answer: 210



QID: 48 -

The pie chart given below shows the number of
students in 6 different sections. The total number
of students is 1800.

= fr ov g Ry # 6 Rfdew 9t & o
WEAT H AT TAT §| OTE F For FEAT 1800
gl

F, 18°
y B

E, 90°
B, 36°

D, 72

C,72°

What is the difference between the number of students in section F to the number of students in section C?

aif F & o1l &Y Tem qur aif C & S dht IeT & e iR a1 82

Options:
1) 108

2) 270
3)90

4) 60
Correct Answer: 270
Candidate Answer: 270

QID: 49 -

The pie chart given below shows the number of
students in 6 different sections. The total number
of students is 1800.

A Re v g9 Ry 7 6 Affew =it & o #r
WEAT H AT AT §| BIET FY For FEAT 1800
gl

F, 18°
y R

E, 90°
B, 36°

D, 72°
C, 7

What is the total number of students in section E, C and F?

T E, C quT F & BT i Gt a1 o1 82

Options:
1) 500

2) 800
3) 900

4) 1080



Correct Answer: 900
Candidate Answer: 900

QID: 50 -

The pie chart given below shows the number of
students in 6 different sections. The total number
of students is 1800.

A= Bw 77 g7 °w 7 6 fAfdes =it 7 o=
TEAT F AT AT §| BT H FA FEAT 1800

gl

F, 18°
T

E, 80°
B, 36°

D, 72°
2, &

What is the ratio of number of students in section D to the number of students in section F and B?

Tt D # BT31 i T &l i F Ju1 B & Sl i T § o1 SuTd 8?

Options:
1)4:1

2)1:2
3)4:3

4)2:3
Correct Answer: 4 : 3
Candidate Answer: 4 : 3

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Many pilgrims died in a stampede while boarding (1)/ a private ferry to the holy place on (2)/ the first day of the ten day long festival. (3)/ No error (4)
Options:

101

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Companies in countries as the United States (1)/ left out of the trade pacts could face (2)/ disadvantages when trying to tap fast growing Asian markets. (3)/ No
error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Why
Options:

1) did

2) done

3) doing

4) won

Correct Answer: did
Candidate Answer: did

your friend set this meeting?




QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

By was this done?
Options:

1) whose

2) why

3) whom

4) where

Correct Answer: whom
Candidate Answer: whom

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rhythm
Options:

1) Ugliness
2) Tempo

3) Inelegance
4) Crudeness

Correct Answer: Tempo
Candidate Answer: Crudeness

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Revelation
Options:
1) Secret
2) Break
3) Denial
4) Refusal

Correct Answer: Break
Candidate Answer: Break

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Deplore

Options:

1) Approve

2) Regret

3) Praise

4) Rejoice

Correct Answer: Regret
Candidate Answer: Praise

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Bare
Options:
1) Bald

2) Covered
3) Naked
4) Shorn

Correct Answer: Covered
Candidate Answer: [ NOT ANSWERED |

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Capture
Options:

1) Arrest

2) Catching
3) Grab

4) Release

Correct Answer: Release
Candidate Answer: Release

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Command
Options:

1) Permission
2) Ban

3) Act

4) Call

Correct Answer: Permission
Candidate Answer: Permission

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Ball is in your court



Options:

1) Itis up to you to take the next step
2) You have to play now

3) It is you who has to help now

4) It is you who has to bat

Correct Answer: It is up to you to take the next step
Candidate Answer: It is up to you to take the next step

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Cry over spilt milk

Options:

1) To complain about a loss from the past
2) Exaggerate small problem

3) Made to undergo gravelling tests

4) Cautionary talk given in private

Correct Answer: To complain about a loss from the past
Candidate Answer: To complain about a loss from the past

QID : 63 - Improve the bracketed part of the sentence.

The quality of service (providing) was excellent especially in the hospitals run by charitable trusts and religious foundations.
Options:

1) provides

2) provide

3) provided

4) No improvement

Correct Answer: provided
Candidate Answer: provides

QID : 64 - Improve the bracketed part of the sentence.

People in the remote village of Kerela are now totally self sufficient and liberal and no longer (waited) till people from urban areas dish out empowerment as a special
privilege or favour.

Options:

1) wait

2) waiting

3) waits

4) No improvement

Correct Answer: wait

Candidate Answer: waiting

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A partner in crime.

Options:

1) Accomplice

2) Apprentice

3) Practioner

4) Cowardice

Correct Answer: Accomplice

Candidate Answer: Accomplice

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

The period between the beginning of puberty and adulthood.
Options:

1) Infant

2) Child

3) Adult

4) Adolescence

Correct Answer: Adolescence

Candidate Answer: Child

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Houliday

2) Holiday

3) Hauliday

4) Holeday

Correct Answer: Holiday

Candidate Answer: Holiday

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Swacter

2) Sweator

3) Sveater

4) Sweater

Correct Answer: Sweater

Candidate Answer: Sweater



QID : 69 - Rearrange the parts of the sentence in correct order.

Real happiness

P: in material

Q: possessions alone
R: does not lie
Options:

1) PQR

2) RQP

3) RPQ

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 70 - Rearrange the parts of the sentence in correct order.

He drove his

P: slimy road to

Q: reach Shimla

R: car through
Options:

1) QRP

2) PQR

3) RPQ

4) PRQ

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The use of technological equipment has given to various types of pollution. The industrial waste is in the seas and other water bodies, thereby leading to
water pollution, the smoke by factories and vehicles causes air pollution, noise pollution is also a result of the production/ use of technological devices.
Industrial waste has also to soil pollution. Technological has also given way to thermal, radioactive and light pollution.

equipment has given to various
Options:

1) rise

2) surprise

3) wise

4) size

Correct Answer: rise

Candidate Answer: rise

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The use of technological equipment has given to various types of pollution. The industrial waste is in the seas and other water bodies, thereby leading to
water pollution, the smoke by factories and vehicles causes air pollution, noise pollution is also a result of the production/ use of technological devices.
Industrial waste has also to soail pollution. Technological has also given way to thermal, radioactive and light pollution.

waste is in the seas

Options:

1) crown

2) thrown

3) drawn

4) moron

Correct Answer: thrown

Candidate Answer: thrown

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The use of technological equipment has given to various types of pollution. The industrial waste is in the seas and other water bodies, thereby leading to
water pollution, the smoke by factories and vehicles causes air pollution, noise pollution is also a result of the production/ use of technological devices.
Industrial waste has also to soil pollution. Technological has also given way to thermal, radioactive and light pollution.

the smoke ______ by factories

Options:

1) remilted

2) admilted

3) emitted

4) transmilted
Correct Answer: emitted
Candidate Answer: emitted

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The use of technological equipment has given to various types of pollution. The industrial waste is in the seas and other water bodies, thereby leading to
water pollution, the smoke by factories and vehicles causes air pollution, noise pollution is also a result of the production/ use of technological devices.
Industrial waste has also to soil pollution. Technological has also given way to thermal, radioactive and light pollution.

waste has also to soil



Options:

1) inculcated

2) result

3) initiate

4) led

Correct Answer: led
Candidate Answer: initiate

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The use of technological equipment has given to various types of pollution. The industrial waste is in the seas and other water bodies, thereby leading to
water pollution, the smoke by factories and vehicles causes air pollution, noise pollution is also a result of the production/ use of technological devices.

Industrial waste has also to soil pollution. Technological has also given way to thermal, radioactive and light pollution.
Technological has also given way to thermal
Options:

1) regression
2) repairmen
3) increment
4) advancement

Correct Answer: advancement
Candidate Answer: increment

QID : 76 - Who is the chairman of NITI Aayog?

A s & Sremer A 82
Options:

1) Arvind Panagairya
aRfde grmfear

2) Rajeev Kumar
Tofia FAR

3) Narendra Modi
TR A

4) Arun Jaitley
Euicrcil

Correct Answer: Narendra Modi
TR "I
Candidate Answer: Narendra Modi

g, HEY

QID : 77 - Which of the following is related to oil seed production?

9 & M dat & Iaures & Hefda 82

Options:
1) White revolution

2) Yellow revolution
3) Green revolution

4) Brown revolution

Correct Answer: Yellow revolution

it shifar

Canditjate Answer: Yellow revolution

et shifa

QID : 78 - On which day the Indian Constitution came into force?

TR Sfaem e fafd &t amp gan?

Options:

1) Margsheersh Shukla Saptami, Samvat 2006 Vikrami
AniRfie S[eer T, Tad 2006 fase

2) Margsheersh Shukla Saptami, Samvat 2007 Vikrami
AnTRf SpeT T, Fad 2007 fasmet

3) Margsheersh Shukla Saptami, Samvat 2008 Vikrami
AR SpeT T, Fad 2008 fasmet

4) Margsheersh Shukla Saptami, Samvat 2009 Vikrami
A et e, Fad 2009 et

Correct Answer: Margsheersh Shukla Saptami, Samvat 2006 Vikrami
AT SpeT T, Fad 2006 faget

Candidate Answer: Margsheersh Shukla Saptami, Samvat 2006 Vikrami
Anffief et al, dad 2006 et

QID : 79 - What does the term "Fourth estate" refer to?

T T Qe fhe Wi &2



Options:

1) Legislature

e dea

2) Heritage buildings
R st

3) Judiciary

=R

4) Press

o

Correct Answer: Press

Candidate Answer: [ NOT ANSWERED ]

QID : 80 - The script of Indus valley Civilization is/was

iy et wvaran it A 8/ |

Options:
1) Brahmi

2) Pali

arett

3) Dravidian

zlag

4) It is still undeciphered.

Tg 3reft oft srufda 81

Correct Answer: It is still undeciphered.
Tg 3t oft srufsa 81

Candidate Answer: It is still undeciphered.
Tg areft oft srafda g1

QID : 81 - Who installed the "bell of justice"?

"1 <1 HeT” fohaa et famar ar?

Options:
1) Humayun

(LS
2) Babur
qTeR

3) Jahangir
U

4) Akbar
3cheR

Correct Answer: Jahangir

Candidate Answer: Jahangir

QID : 82 - What percentage of the Earth's area is approximately filled with water?

qeeft & & ot fohaIT IfSTd mesT Uit § +1R1 82

Options:
1) 50%

2) 60%
3) 70%
4) 80%

Correct Answer: 70%
Candidate Answer: 70%

QID : 83 - Chambal river is the tributary of which of the following river?

et A} fohgeh! Iudl 872

Options:
1) Yamuna

T

2) Ganga
T

3) Narmada
e

4) Godavari
Terast

Correct Answer: Yamuna
AT

Candidate Answer: Ganga
T

QID : 84 - Which one of the following items is not a source of Vitamin C?

Pl & & a7 i awg R o a1 s 781 &2
I 0000000



Options:
1) Potato

3
2) Tomato
THTR

3) Guava
HAEG

4) Egg
e

Correct Answer: Egg
3fsT

Candidate Answer: Potato

S

QID : 85 - What is the normal temperature of the human body?

G RR T G JTIH T 82
Options:

1)30.5°C
30.5 et IfRTT

2)37°C
37 et fRma

3)98.4°C
98.4 faift AfRTT
4)97.4°C
97.4 fiit fRmg

Correct Answer: 37° C
37 feft

Candidate Answer: 37° C
37 feft

QID : 86 - lodization of Salt is a public health measure to prevent

THh T ITATSHIAROT _____ Aeht o fIY Teh ATefuii~es e IUTd 8]

Options:

1) Diabetes
g

2) Tuberculosis
AT

3) Goitre

Her

4) Anemia
Correct Answer: Goitre

Candidate Answer: Goitre

QID : 87 - A light year is the unit of which of the following?

yeRteT ay fAmfofea & | fargdh 3ars 82
Options:

1) Light

TehIT

2) Speed

IS

3) Sound
@y

4) Distance
Correct Answer: Distance

Candidate Answer: Distance

QID : 88 - Which are the primary Colours?
T I R G &2
Options:

1) Yellow, Green, Blue
e, &=, e

2) Red, Magenta, Blue
T, Asiwer, e

3) Red, Green, White
T, &1, 9the

4) Red, Green, Blue
oTed, 8,

Correct Answer: Red, Green, Blue
|Ted, g1, e

Candidate Answer: Red, Green, Blue

S I 0000000



QID : 89 - Which of the following is not an input device?

378 @ & 91 Gk Y f3arsy el 82

Options:
1) Microprocessor

2) Mouse
HISH

3) Keyboard
Hrare

4) Joystick
Sifa fea
Correct Answer: Microprocessor

Candidate Answer: Microprocessor

QID : 90 - Primarily which kind of acid is present in apple?

& 9 8 99 # foh¥ TR T 31T UTT STl 872

Options:
1) Citric acid

2) Lactic acid

TR

3) Tartaric acid
ST

4) Malic acid

Aot Tl

Correct Answer: Malic acid

Candidate Answer: Malic acid

QID : 91 - Which of the following gases is used for artificial ripening of green fruits?

=1 & 9 o 719 o1 IUART &R el Rl G i § ek o foig fomam Srar 82
Options:

1) Ethane

DL

2) Ethylene

gl

3) Carbon dioxide
FIET SFATFATES
4) Acetylene
Rt

Correct Answer: Acetylene

Candidate Answer: Acetylene

QID : 92 - Which of the following living beings is most likely to produce greenhouse gases?

frafafEa & @ o= a1 gofta gad sifde fiFesy 9 307 R gadr 82

Options:
1) Bacteria

2) Fungi

hach

3) Earthworm

Shga

4) Green Plants
e10

Correct Answer: Green Plants

Candidate Answer: Earthworm
Fgar

QID : 93 - What is the cover amount for partial disability in Pradhan Mantri Suraksha Bima Yojana?

TR R AT At & Srifres fRenerimar & forg sar afy e &2
Options:

1) 4 Lakh

4 g

2) 3 Lakh

3T

3) 2 Lakh

2 @G

4) 1 Lakh

19

Correct Answer: 1 Lakh

17 I 0000000



Candidate Answer: 1 Lakh
1@

QID : 94 - Who invented the fountain pen?

RIS U T SR fohae fomam?

Options:
1) Dresser

2) Petrache Poenaru
CEIRRs et

3) Alxender Fleming
SeTtex RAfET

4) Edward Jenner
TETE SR

Correct Answer: Petrache Poenaru
CEICRE LGS

Candidate Answer: Alxender Fleming
TSR AT

QID : 95 - When was the first Common Wealth Games held?

Ut AFHSH WAl Gl SIS Rl Gl AT?

Options:
1) 1920

2) 1930
3) 1940

4) 1950
Correct Answer: 1930
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Who does not belong to Madhubani Painting?

i Ay R @ el 78 22
Options:

1) Bharti Dayal

AR AT

2) Baua Devi

o &t

3) Madhu Kishwar

AY fReR

4) Ganga Devi

T &t

Correct Answer: Madhu Kishwar
a1y R

Candidate Answer: Ganga Devi
T &t

QID : 97 - Which is the highest gallantry award in India?

IR # FRAT T GaTed YTERR I IT1 87

Options:

1) Ashoka Chakra

3Nk Th

2) Param Vir Chakra

URHAR deh

3) Mahavir Chakra

HETER T5h

4) Bharat Ratna

HR I

Correct Answer: Param Vir Chakra
dch

Candidate Answer: Ashoka Chakra
3Nk TH

QID : 98 - Who is author of the book "The Namesake"?

'g A" & A@d D 87

Options:
1) Amitav Ghosh
Siffary gy

2) Arundhati Roy
sy T
3) Kiran Desai

4) Jhumpa Lahiri
e et

Correct Answer: Jhumpa Lahiri

g et

Candidate Answer: [ NOT ANswER Y A



QID : 99 - Which country imposed the world's toughest law against plastic bags recently?

BTt 8t H fohg 321 7 wenfean & & Rtk g a1 e Jf¥ehet ahiege o fokar?

Options:
1) Japan
ST

2) India
HRA

3) Kenya
&1

4) France
i

Correct Answer: Kenya

Candidate Answer: Kenya
&=

QID : 100 - MPhil in Hindi degree is awarded for the first time in which of the following country?

fafafea 7 @ forg 2 7 ugeft ar B & yaftha @ gwnfaa favar mar 82
Options:
1) Bangladesh
7
2) Pakistan
grfeheT
3) Sri Lanka
sfietept
4) Afghanistan
ST

Correct Answer: Pakistan

Candidate Answer: [ NOT ANSWERED ]



